HE R gF—HE BIHE BF=HE FORE
)] 9:00 10:00 11:00 12:00
145 F—LRESAH—X 5EYSD J—Z2@O—FK A AE
10818 (%) (HEY5) (/—z20—F) (SOK60) )
=®REZ N xZ54% SOK60 MR
158 J—ZO—FK BTE Fewt e SOK®60
108158 (%) 0-1 0-2 0-1 (#K)
=REZN BAE A=A RSAHh—X FEYS7D
%16 >l qEYST A4 A—ILR S H—R
108298 (&) (BEYS7) (FZ24) (/—z2O—F) (#K)
=®&REZ/N BAE J—zZ2Aa—Rk SOK®60
=178 xZAr4 SOK®60 A—ILR RS H—X qEVSD
1MA198 (%) (SOK®60) (=R FS4H—X) (BAF) (#K)
=H#G TR BAE J—Z2A—FK
%18 BEYST SOK®60 BAFE J—Z2Aa—Fk
118268 (%) (SOKB60) (BARFE) (#7 R) ()
=H#G| A—LRFS4H—X By R x=2%
£198 SOK60 BT R BAE xZ24
12A38 (L) (k4 ) (AAXFE) (BEYS7) ()
=HG6 J—XA—F 5EYVST F—LR 54 H—X
=2 0% AAE J—20—F A—LRFS4H—X TR
128178 (L) (/—2B—F) (F—LR 54 H—X) (1FZ23) (4R
=G FEVST FZ5d SOK60
20234
1828 (A) 2 0 2 3EMH YMFP - SSS&EE
=H#G
£2 18 J—ZAO—F BT R xZAr4 SOK60
1218 (&) (#7 E) (Z&24) (=LA 5L H—X) (#K)
=HG BAE F—LR 54 Hh—X HEYSD
FE2 28 A—LR S H—X BEYST J—ZO—K BAE
248 (%) (BHESSD) (/—z2A—F) (SOK®60) (K)
=HG6 3% SOK®60 TR
%2 3 €S0 SOK60 BAE J—ZRE—RK
2H188 (%) (SOK60) (BAE) (#4 ) (K)
=HG| A—LRFSAH—X - Ll T34
¥£2 46 EZ5% SOK®60 F—WR 54 H—X EEHSD
348 (%) (SOK60) (F—=LR +S4H—X) (BAFE) ()
=H#G BIR BARFE J—RAO—F
¥£2 5% Wy R 8EYST Few e A=A FSALH—X
3F18H (x) (BEY3S ) (IFZ24) (/—z2O—F) ()
=HG6 BHAE J—20—FK SOK®60

*E-HADOLAIF—LPHAOLEAF—L (B) TT,

*[. ERAFEARKETHLE LG SHEEFREBABI LA,
* T—LOBHEREAGTE T —LATL, REBHF—LTRORE (ZHFEF) EHEREISTS.

Fr. AAHREERICFAXT D,
* TS0 FOFERICKEAELHZEDRWNE S, FRETL -
*HXEDREFILEE, F—HEHR 7 RHENRET, EEANAELE

EEMTIZA Do

* FRIF—LRT7YI— (B) TY,.

B F—EF 5,
8. BF—LOREELEON




